LESSON PRACTICE

Simplify, then solve and check.

1. -3A-5+4A-6+2A=19 2. 8B-6+5B-3-3B=4]

3. -5Y+3-6Y+2Y+4=13 4. 8Q-Q+7-4-3Q=7+4x10
5. 8M-4M-6-3+5M=282%-1 6. 7C-4C+5-8+C=52+4

7. 11A-4A-18=2A+A+10 8. 2B-10B-15+5=8B-40-4B-6
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LESSON PRACTICE 3B

9. 3C-6+2C=10C-2C+6

1. 8K-6+3K-2K+3=4x33

13. -2C+12=2C-6+6C-12

36

10.

12.

14.

2D-8-5D=-3D-2D+6

B+B+B+6=6B+5-2B+9

10X-3X-9+3-X=51+3+1
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SYSTEMATIC REVIEW

Solve for the unknown.

1. X+3=9 2.
3. 2X+5=11 4.
5. 4X+2=2X+8 6.
7. Q+4=3Q-6 8.

Larger or smaller? (Use <, >, or = in the oval.)

9. 9-3 C14-11| 10.
Solve.
11, (-3) - 4+62 . (-3)+5%= 12.

2

4 6 . _
13. 3x]07 = 14.

3

ALGEBRA 1 SYSTEMATIC REVIEW 3C

X+6=10

4Q-2=10

3Y+5=2Y+7

2R+ 8=3R-2

nN-2-31CO 12 -3

(14-9+42%-(3+6-29=

(.17)(.8) =
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SYSTEMATIC REVIEW 3C

15. (-8)(-7) = 16. (-4)° =

QUICK TIP

The least common multiple (LCM) is useful for simplifying some equations
before solving.

3 1 _ 7
EXAMPLE 1 Solve 7 A+ > =70
4=2x2,2=2,10=2x5
SolCM=2x2x5=20
Multiply each term by 20. 2 3 10 12 7
(RI) A+ (20)5- (26) 5
15A+10=14
A=4/15

Use the LCM of the denominators to simplify before solving for the unknown.

1.2 _ 1 3 3 _,1
17. 2+3—4X 18.5X+4—]2
1 2 _ 1 3_1,_3
19. 9X+3-5 20.8 5X—4

38 ALGEBRA 1



SYSTEMATIC REVIEW

Solve for the unknown.

1. Y-3=10
3. 3C+6=-9
5. 4E-3=-3

7. 2Y-2=3Y-6

Larger or smaller? (Use <, >, or = in the oval.)

9. 13x2x2)CD24+(-3)

Solve.

11. [(6-2)x5%2-10]=

ALGEBRA 1 SYSTEMATIC REVIEW 3D

2B-5=13

2D-5=1

3X+8=-2X-2

Z+8=2Z2+18

M7-3-200COD17+0+1|

(-7-6)°2-(4+5-3)°%=
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SYSTEMATIC REVIEW 3D

X 3 + 2 _ 14. How many groups of 12¢

13 2
6 7 3 are there in $1.68?

Use the answer to #15 to simplify #16, and then solve for X.

Hint: First make improper fractions.

15. Find the LCM of 2, 5, and 10. 16. 1

QUICK TIP

The LCM may also be used to simplify equations involving decimals.

EXAMPLE 1 Solve .05X - .35 = 2.7 If the decimals were written as
fractions, the denominators would be 100 and 10.
The LCM is 100.

Multiply each term by 100 — (100).05X - (100).35 = (100)2.7 »5X -35 =270
X=61
EXAMPLE 2 Solve .2X+5=2.4

Multiply each term by 10— (10).2X + (10)5 = (10)2.4
2X+50=24X=-13

Use the LCM to make whole numbers before solving for the unknown.

17. .83 +.04X =.325 18. .18+ .2X=.17

19. 8X+1.3=7+.24 20. 8.2 -4 =.08X
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